JIOY

JAIN INTERHATIONAL ORGAN

| SAURASHTRA UNIVERSITY CAMPUS
. RAJKOT- 360 005

. [CCDC- UPSC COACHING CENTER )
$

Exam: - Geography Syllabus: - 6t11& 7th NCERT Date: - 14-Nov- 2021
Total Marks: 200 Negative Marks: - 0.66 Paper Code: Geo2101

1. Consider the following Statements regarding the “Celestial bodies”-
1.All objects that glow are called Celestial bodies.
2.All Celestial bodies have their own heat and light.
Which of the above Statements is/are correct?
(a) Only 1 (b) Only 2 (c) Both 1 and 2 (d) Neither 1 nor 2

Consider the following statements regarding the planets in our Solar System-

1. “Outer Planets” are the planets which are very far from the sun and the “Inner planets” are very close
to the sun.

2.Saturn is the only planet that does not revolve around the sun but other planets revolve around the
sun.

Which of the above Statements is/are correct?

(a) Only 1 (b) Only 2 (c) Both 1 and 2 (d) Neither 1 nor 2

Which planet is known as the twin of venus?
(a) Jupiter (b) Mars (c) Earth (d) Saturn

Which of the following statements is/are correct in relation to the Sun?
1.The Sun is the only source of heat and light for the solar system.

2.The closest planet to the sun that supports life is earth

Code:

(a) Only 1 (b) Only 2 (c)1and 2 (d) Neither 1 nor 2

Consider the following Statement

(A): From outer space, the earth appears blue.

Reason(R): Blue colour has the highest scattering.

Code:

(a) Both A and R are correct and R correctly interprets A.

(b)Both A and R are correct but R does not accurately interpret A.
(c)Ais correct, R is incorrect.

(d)A is incorrect, R is correct.

Consider the following Statement-

1.“Asteroids” are found between the orbits of Mars and Jupiter.

2.Meteoroids have the tendency to fall on earth.

3.Moon is the only satellite that revolves around both the sun and the earth.
Which of the above statements is/are correct?

(a) Only 1 and 2 (b) Only 3 (c)1,2and 3 (d) None

Consider the following Statements-

1.The equator is the largest latitude, which is an imaginary line.

2.The parallel lines where the equator is south of them are called northern latitudes.
Which of the above statements is/are correct?

(a) Only 1 (b) Only 2 (c)Both 1and 2 (d) Neither 1 nor 2

Regarding latitudes, consider the following statements-
1.Tropic of cancer is a northern latitude.
2.The area between the tropic of Capricorn and Antarctic Circle, is the southern temperate zone.
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3.The equator represents the zero degree latitude.
Which of the above statements is/are incorrect?
(a) Only 1 (b) Only 3 (c)1land 2 (d) None

Which of the following statements is/are correct?

1.In order to locate the places on the two hemispheres and on the same latitudes, the longitudes
are used.

2.Unlike parallels of latitudes, all meridians are of equal length.

Code:

(a) Only 1 (b) Only 2 (c)1land?2 (d) Neither 1 nor 2

Consider the followingStatement (A): Temperature is moderate at the north of the tropic of
Cancer and south of the tropic of Capricorn.

Reason(R): The sun rays are slanting to north on the tropic of Cancer and slanting to south on the
tropic of Capricorn.

Code:

(a)Both A and R are correct and R correctly interprets A.

(b)Both A and R are correct but R does not accurately interpret A.

(c)Ais correct, R is incorrect.

(d)A is incorrect, R is correct.

Consider the following Statement

(A): Those places east of Greenwich will be ahead of Greenwich time.
Reason(R): The earth rotates from west to east.

Code:

(a)Both A and R are correct and R correctly interprets A.

(b)Both A and R are correct but R does not accurately interpret A.

(c)Ais correct, R is incorrect.

(d)A is incorrect, R is correct.

Prime Minister Modi starts his foreign journey from India on 1:00 P.m. to the country 25° east
longitude from India to a South-eastern Asian Country. Can you tell what was the time of that
country?

(a) 2: 20 p.m. (b) 11:20 a.m. (c) 2:40 p.m. (d) 11:40 a.m.

Consider the following statements:-

1. The movement of the earth on its axis is called Rotation.

2. The movement of the earth around the sun in a dynamic path or orbit is called revolution.
Which of the above statements is/are correct?

(a) Only 1 (b) Only 2 (c)1land 2 (d) Neither 1 nor 2

The changes of day and night and seasons occurs on earth

1. because of rotation 2. because of revolution.

Code:

(a) Only 1 (b) Only 2 (c) Both 1 and 2 (d) Neither 1 nor 2

Which of the following Statements is/are correct in relation to “Maps”.

1. Maps showing natural features of the earth are called physical or relief maps.
2. Maps that focus on specific information are called thematic maps

Code

(a) Only 1 (b) Only 2 (c)Both1and 2 (d) Neither 1 nor 2

Arctic circle passes through which continent?
(a) Europe (b) Africa (c) Asia (d) South America




Consider the following statements-

1.Nutrients are found for organisms in the earth’s crust.

2.All the oceans are connected with each other.

3.Earth surface has three main divisions: continent, ocean and poles.

Which of the above statements is/are correct?

(a) Only 1 (b) 1and 2 (c)2and 3 (d)1,2and 3

Consider the following statements-

1.Europe and Asia are separated by the Ural mountains.

2.Africa is the second largest continent of the world

3.Africa lies equally in both northern and southern hemispheres.

Which of the above statements is/are correct?

(a) Only 1 (b)1and?2 (c)2and 3 (d)1,2and 3

Which of the following statements is/are correct about the African Continent?
1.Tropic of Cancer, equator and tropic of Capricorn passes through it.

2.World’s longest river and largest desert are located in it.

3.Surrounded by seas and oceans on all sides.

Code

(a)Only 2 (b)1and 3 (c) Only 3 (d)1,2and 3

Consider the following Statements-

1.A strait is a narrow passage that connects two large water bodies or one large water body with a
large landmass.

2.“Isthmus” connects two large landmasses.

Which of the above statements is/are correct?

(a) Only 1 (b) Only 2 (c)Both1and 2 (d) Neither 1 nor 2

Which of the following statements is incorrect?

(a)Australia is called as island continent

(b)North America continent lies completely in the northern hemisphere.
(c)Antarctica is the world’s smallest continent.

(d)Bothband c

Which of the following is the research station of India at the South pole of Antarctica?
(a)Maitri (b)Neem Camp (c)Himadri (d) Bothaand c

Consider the followingStatement

(A)- The Coastline of Atlantic Ocean is highly indented

Reason (R)- This indented coastline provides ideal location for natural harbours and ports.
Code-

(a)Both A and R are correct and R correct interprets A.

(b)Both A and R are correct but R does not accurately interpret A.

(c) Ais correct, R is incorrect.

(d) Ais incorrect, R is correct.

Consider the following Statements-

1.Itis “S” shaped.

2.From the point of view of commerce, it is the busiest ocean.
3.Africa is on its edge

The above statements are related to which ocean?

(a) Pacific Ocean (b) Atlantic Ocean (c) Arctic Ocean (d) Indian Ocean

Arrange the following layers of Atmosphere from top to bottom-
1. Ionosphere 2. Exosphere 3. Troposphere 4. Stratosphere
5. Mesosphere




As the height is increased then-

1. The temperature decreases

2. Density increases.

Code:

(a) Only 1 (b) Only 2 (c)1land 2 (d) None

Consider the following Statements

1.The process of erosion and deposition are carried out by running water, ice and wind.

2.The variation of the landforms of the earth are due to the internal and external process.
Which of the above statements is/are correct?

(a) Only 1 (b) Only 2 (c)1land2 (d) Neither 1 nor 2

Consider the following Statements in relation to “Mountains”.

1.The mountains have a Small summit and a broad base.

2.The mountains found under the sea are always of less height than the land mountains.
3.Mountain area is not suitable for farming

Which of the above statements is/are correct?

(a) Only 2 (b) 2and 3 (c)1land3 (d)1,2and3

Consider the following characteristics.

1. Conical peaks

2. Eroded mountain

3. Rugged relief

Above characteristics are of which types of mountains?
(a) Fold mountains (b) Volcanic mountains

(c) Block mountains (d) None of these

Which of the above is/are not examples of Volcanic mountains?

1. Vosges Mountain

2. Mountain Fujiyama

3. Mountain Kilimanjaro

Code:

(a) Only 1 (b) Only 3 (c)1land?2 (d)1,2and3

Consider the following statements in relation to “Plateaus”

1.The Deccan plateau is one of the oldest plateaus.

2.The Tibet plateau is the second highest plateau in the world.

3.Plateaus are rich in mineral deposits.

Which of the above statements is/are correct?

(a) Only 1 (b) 1and 2 (c)land3 (d)1,2and 3

Statements in relation to “plains” is/are correct-

1.All plains are formed by the depositions of rivers.

2.The Gangetic plains is one of the world’s largest densely populated regions.

Code:

(a) Only 1 (b) Only 2 (c)land2 (d) Neither 1 nor 2

“The Hundru falls” is situated on which river?
(a) Subarnarekha (b) Mahanadi (c) Ganga (d) Son river

Which of the following neighbouring countries of India does not have boundaries to any ocean or
sea?
1. Nepal 2. Bhutan 3. Myanmar 4. Bangladesh




Code:
(@) 1and 2 (b)1,2and 3 (c) 2,3 and 4 (d) All of the above

Consider the following Statements-

1.Alluvial deposits include fine soil, sand and stone.

2.The Ganga and the Brahmaputra plains are formed by alluvial deposits

Which of the above statements is/are correct?

(a) Only 1 (b) Only 2 (c)Both1and 2 (d) Neither 1 nor 2

Which of the following physical locations is indicated in the given map?

(a) Bundelkhand plateau (b) Vindhyachal Range
(c) Aravalli Range (d) Baghelkhand Plateau

In relation to the Physical Characteristics of India, consider the following statements-
1. To the south of northern plains lies the peninsular plateau.

2. Shiwalik range lies between the great Himalaya and Himachal ranges

3. The west flowing river Tapi, drain into the Arabian sea.

Which of the above statements is/are correct?

(a) Only 1 (b) 1and 3 (c)2and 3 (d)1,2and 3

Consider the following Statements-

1.The eastern Coastal plains lie in the east of Eastern Ghats and are broader than western coastal plains.
2.Mahanadi, Godavari, Krishna, Narmada and Kaveri and all Peninsular river that drain into the Bay of
Bengal

Which of the above statements is/are correct?

(a)Only 1 (b)Only 2 (c)land 2 (d) None

What are “Polyps”?
(a) Coral islands (b) Skeleton of tiny marine animals
(c) Sea delta (d) Circular lagoon

Consider the following statements

1.Tsunami is a sea wave generated due to earthquakes on land and sea floor.

2.Lakshadweep is an example of Coral island.

Which of the above statements is/are correct?

(a) Only 1 (b) Only 2 (c)land2 (d) Neither 1 nor 2

41. Consider the following Statements-
1. South west monsoon season is considered as the rainy season in India.
2. Season of Retreating monsoon is called Autumn, which is from October to November.




Which of the above statements is/are incorrect?
(a) Only 1 (b) Only 2 (c)1land 2

42. Consider the following characteristics-
1. Winds move from the mainland to the Bay of Bengal
2. Tamil Nadu and Andhra Pradesh receive rainfall in this season.
The Above Characteristics are related to which season?
(a) Summer (b) Rainy Season (c) Autumn (d) Winter

43. Ramesh went to a famous tourist destination during his school holidays. But when he reaches
there, he feels that the weather is sticky and sweaty, though the place is neither too hot not too
cold yet he feels the sticky heat. Can you tell, Ramesh went to which one of the following places?
(a) Bikaner (b) Jaipur (c) Goa (d) Ooty

Consider the following

Statement (A): Tropical rain forest are also known as evergreen forest
Reason(R): Tropical rain forest trees do not shed their leaves.

Code:

(a)Both A and R are correct and R correctly interprets A.

(b)Both A and R are correct But R does not accurately interpret A.

(c)Ais correct, R is incorrect.

(d)A is incorrect, R is correct.

45. Match the following Column(A) Column(B)
A.Ebony 1. Evergreen Forest
B.Shisham 2. Thorny Bushes
C.Keekar 3. Monsoon Forest
D.Pine 4. Mountain forest
Code:
(a) 1-2-3-4 (b) 1-3-4-2 (c) 3-1-4-2 (d) 1-3-2-4

Consider the following Characteristics.

1.They shed their leaves at a particular time.

2.They are found in Bihar,Jharkhand, Chattisgarh, etc.

The above characteristics are related to which of the following vegetation?
(a) Evergreen forest (b) Monsoon forest

(c) Mangrove forest (d) Thorny forest

Which of the following is/are Migratory Birds?

1. Flamingo 2. Pintail 3. Stork 4. Parrot
Code:

(@) 1and 2 (b) 1,3 and 4 (c)1,2and3 (d) All of the above

Which of the following Statements is/are incorrect in relation Mangrove forests-
1.They are found only in Saline water

2.They are found only in Sunderbans and in the Andaman and Nicobar islands.
3.Sundari is a species of these forests

Code:

(a)Only 2 (b)Only 3 (c)land 2 (d)2 and 3

Which of the following Statements is/incorrect in relation to “Conical trees”-
1.These trees have a height between 1500 metres to 2500 metres.

2.Chir, deodar are the examples of these trees.

Code:

(a) Only 1 (b) Only 2 (c)1land2




Which of the following statements is correct in relation to the “Circle of illumination”?
(a)The circle that divides the day and night

(b)The circle that divides two time periods.

(c) The circle joining the same latitude.

(d) None of the Above

Consider the following statement in relation to “Ecosystem”-

1.It is a system formed by the interaction of all living organisms with each other and with the
physical and chemical factors of the environment.

2.All linked by transfer of energy and materials.

Which of the above statements is/are correct?

(a) Only 1 (b) Only 2 (c)land 2

Consider the following Statements-

1.The changes in the weather and climate produce changes in atmosphere.
2.Biosphere is formed by the plants, living organisms, buildings etc. around us.
Which of the above statements is/are correct?

(a) Only 1 (b) Only 2 (c)land 2 (d) None

Consider the following Statements in relation to the interior of the earth-

1.The main mineral constituents of the continental mass are silica and magnesium.

2.The oceanic crust mainly consists of silica and alumina.

Which of the above statements is/are correct?

(a) Only 1 (b) Only 2 (c) Both1 and 2 (d) Neither 1 nor 2

Consider the following Statements-

1.The crust forms a big part of the volume of the earth.

2.The core forms the smallest part of the volume of the earth.

3.The core is mainly made up of nickel and iron.

Which of the above statements is/are false?

(a) Only 1 (b) Only 3 (c)1land?2 (d)1,2and 3

Statement correct in relation to the rocks formed by lava-

1.When the molten lava comes on the earth’s surface, then big grained rock basalt is formed.

2.When the molten magma cools down deep inside the earth’s crust, then fine grained rock granite is
formed.

Code:

(a) Only 1 (b) Only 2 (c)1land 2 (d) None

Which of the following is an example of extrusive igneous rocks?
(a) Deccan Plateau (b) Granites (c) Red Sandstone (d) None of the above

Which type of rock is used to build “Taj Mahal”?
(a) Igneous Rock (b) Sedimentary Rock
(c) Metamorphic Rock (d) None of the above

Consider the following Statements-

1.When the igneous and sedimentary rocks are subjected to heat and pressure they change into
metamorphic rocks.

2.The metamorphic rock is not transformed into molten magma. It directly changes into igneous rocks.
Which of the above statements is/are false?

(a) Only 1 (b) Only 2 (c)1land2 (d) None




Consider the following Statements-
1.The earth’s crust consists of similar size plates, which carry continents and ocean floors.
2.Earthquakes occur due to the sudden movement in the external force.
Which of the above statements is/are true?
(a) Only 1 (b) Only 2 (c)1land 2 (d) None

60. Consider the following statements in relation to “earthquake”-
1.The focus of the earthquake is below the earth’s crust but the epicentre is on the surface.
2.Greatest damage is closest to the epicentre.
3.The focus of earthquakes and Seismic energy is the same.
Which of the above statements is/are false?
(a) Only 1 (b)1and3 (c) Only 3 (d) None

Which of the following statements is not true in relation to “earthquake waves”?

(a) P-waves are type of surface waves

(b) S-waves are type of transverse waves

(c) L-waves are transmitted on the surface

(d) All of the above

Consider the following Statements-

1.Weathering is the breaking up of the rocks on the earth’s surface. It requires agents like water,
wind and ice.

2.The eroded material is carried away by agents like water and wind.

Which of the above statements is/are true?

(a) Only 1 (b) Only 2 (c)land 2

Which of the following is/are correct match?

1. Angel Falls-North America

2. Niagara Falls-Canada

3. Victoria Falls-North Africa

Code:

(@) 1and 2 (b) Only 2 (c)2and 3 (d)1,2and 3

Which of the following statements is/are correct in relation to the landforms formed by rivers?
1.Meanders, ox-bow lakes,etc landforms are created by rivers near to their origin.

2.Delta floodplains, levees are also examples of landforms created by rivers.

Code:

(a) Only 1 (b) Only 2 (c)1land?2 (d) None of the above

The examples of the landforms formed by the deposition of sea waves is/are-

1. Sea beach 2. Sea arches 3. Stacks 4. Sea Caves
Code:

(a) Only 1 (b)1,2and 3 (c) 2,3 and 4 (d)1,2,3and 4

“Loess” means-

(a)The landforms created by the erosion of sand dunes.

(b)The landforms created by the deposition of glacial moraines.
(c)The landforms created by the deposition of sand grains.
(d)None of the above

Which of the following is at the largest height?
(a) Tropopause (b) Stratopause (c) Mesopause (d) Ozone layer

Consider the following statements-

1.Nitrogen is the most plentiful gas in the air

2.Plants take a large amount of nitrogen directly from the atmosphere.
3.Carbon dioxide is a greenhouse gas.




Which of the above statements is/are correct?

(@) 1and 2 (b) 2and 3 (c)1land3 (d)1,2and 3
69. Consider the following StatementsStatements

(A): Carbon dioxide is a reason for global warming.

Reason(R): Carbon dioxide produces a greenhouse effect.

Code:

(a)Both A and R are correct and R correctly interprets A.

(b)Both A and R are correct and R does not correctly interpret A.

(9 A is correct, R is incorrect.

(d)A is incorrect, R is correct.

Consider the following Statements-

1.Tropopause is between the stratosphere and troposphere.

2.Stratopause is above the ozone layer.

3.Weather phenomena occur in the troposphere.

Which of the above statements is/are correct?

(a) Only 1 (b)1land 2 (c) Only 3 (d)1,2and3

Consider the following statements in relation to “air pressure”-

1.Air pressure always decreases as we go up from the sea level.

2.Air pressure always increases as we move towards the poles from the equator.
Which of the above statements is/are true?

(a) Only 1 (b) Only 2 (c)land 2 (d) None

Consider the following Statements-

1.The northeast trade winds blow from sub-tropical high pressure towards equatorial low pressure.
2.The south-east trade winds blow from sub-tropical high pressure towards equatorial low pressure.
3.Prevailing westerlies blow from horse latitudes to sub-polar low pressure.

Which of the above statements is/are false?

(a) Only 2 (b) Only 3 (c)1,2and 3 (d) None

Which of the following statement is not correct in relation to “Humidity”?
(a)Humidity is the amount of water vapour in the air.

(b)The value of humidity is not always fixed.

(c)Humid climate is uncomfortable for a person.

(d)As the temperature increases humidity decreases.

Arrange the following lakes, in the direction from north to south-

1.Great Bear Lake 2.Lake Victoria

3.Lake Huron 4.Lake Winnipeg

Code:

(@93-4-1-2 (b)1-4-3-2 (c)4-1-3-2 (d)4-3-2-1

Which of the following seas are situated above the tropic of cancer?

1. Caribbean Sea 2. Black Sea

3. Caspian Sea 4. South China Sea

Code:

(@) 1,2and 4 (b) 3and 4 (c)2and 3 (d)1,2,3and 4

Which of the following statements is false?

(a)The amount of water as a glacier is more than groundwater on earth.
(b)The Salinity of the Dead Sea is more than the average salinity.

(c)The orange river is in between the equator and the tropic of Capricorn.
(d)Congo river is closest to the equator.




Consider the following Statements Statements

(A): The frequency of tsunamis is relatively very low in the Indian Ocean.
Reason(R): The seismic activity is less in the Indian Ocean.

Code:

(a)Both A and R are correct and R correctly interprets A.

(b)Both A and R are correct and R does not correctly interpret A.

(c)Ais correct, R is incorrect.

(d)A is incorrect, R is correct.

When does “high-tide” occur?

(a)When the moon is between the sun and the earth

(b)When the earth is between the sun and the moon.

(c)When the earth is in front of the sun and the moon is at right angled position
(d)Bothaandb

Which of the following statements is true?

(a)Taiga forests are found only in the highest latitudes of northern hemisphere
(b)Campos, Lianos are the examples of temperate grasslands.

(c)The bark of Mediterranean trees is quite thin.

(d)Chir, Oak, eucalyptus, etc are the examples of tropical deciduous forest.

Consider the following statements-

1.Perth, Jakarta and Hong-Kong are inter-connected through waterways.

2.Dar es Salaam is a major port of west Asia.

3.New York is connected with many cities through both waterways and airways.
Which of the above statements is/are true?

(@) 1and 2 (b) 2and 3 (c)1land3 (d)1,2and 3

Which of the following is not a port?
(a) San Francisco (b) Addis Ababa (c) Aden (d) Chennai

Statement correct in relation to tsunami waves?

1.Tsunami waves are also known as “Harbour waves”.

2.Tsunami occur due to earthquake, volcanic eruptions or underwater landslides.
Code:

(a) Only 1 (b) Only 2 (c)1land?2 (d) None

Consider the following statements in relation to “Oceanic Currents”-
1.Generally, the warm ocean currents move from the equator towards the poles
2.The Labrador and the Gulf Stream are cold and hot oceanic currents respectively.
Which of the above statements is/are correct?

(a) Only 1 (b) Only 2 (c)land 2 (d) None

Which of the current is not the Atlantic Ocean?

1. Benguela Current 2. Kuroshio Current 3. Oyashio Current 4. Canary Current
Code:

(@) 1,2and 4 (b) 2and 3 (c)3and 4 (d) 2,3 and 4

85. Which of the following occurs due to “Endogenic forces”?
1. Erosion 2. Earthquake 3. Volcano 4. Landslide
Code:
(@) 1,2and 3 (b) 2,3 and 4 (c)1,2and 4 (d)1,2,3and 4

86. The region between the tropic of cancer and the tropic of Capricorn is known as-
(a) Sub-Tropical region (b) Tropical region
(c) Sub polar region (d) None of the above
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Consider the following Statement-

1.Amazon basin is the world’s largest river basin

2.Equator passes through the Amazon basin.

Which of the above statements is/are true?

(a) Only 1 (b) Only 2 (c)1land 2 (d) None

Which of the following Countries are landlocked?

1. Peru 2. Bolivia 3. Paraguay 4. Uruguay
Code:

(@) 1and 2 (b) 2and 3 (c) 2and 4 (d)1,3and 4

Which of the following Characteristics are of Amazon basin?

1. Hot and wet climate 2. High humidity 3. High rainfall

Code:

(@) 1and 2 (b) 2and 3 (c)land3 (d)1,2and 3

Match column I with Column II.

Column-I Column-II

A. Bromeliads 1. House

B. Manioc 2. Frust

C. Maloca 3. Plant

Code:

(a)1-2-3 (b)1-3-2 (c)3-2-1 (d)3-1-2

Consider the following Statements Statements (A): Rain forests are rich in biodiversity.
Reason(R): In Rain forest the sunlight reaches to the ground.

Code:

(a)Both A and R are correct and R correctly interprets A.

(b)Both A and R are correct and R does not correctly interpret A.

(c)Ais correct, R is incorrect.

(d)A is incorrect, R is correct.

For which of the following the Kimberley mine situated in South Africa is famous?
(a) Gold (b) Silver (c) Platinum (d) Diamond

Choose the correct statement from the following-

1. Prairie is the temperate grassland of South America.

2. Apache, the crow, the cree and the pawnee are the major vegetation found in prairies.
Code:

(a) Only 1 (b) Only 2 (c)1land 2 (d) None

Choose the correct statement from the following-

1.African continent is surrounded by the Atlantic ocean, Indian ocean and the Mediterranean sea.
2.Africa is the only continent through which the tropic of cancer, the tropic of Capricorn and
equator passes.

3.The velds are the tropical grasslands of South Africa.

Code:

(@) 1and 2 (b) 2and 3 (c)land3 (d)1,2and 3

Match column-I and column-II.

Column-I Column-II

A. Chinook 1. Cattle farms

B. Ranches 2. Desert

C. Kalahari 3. Hot wind

(a)1-2-3 (b)3-2-1 (d)1-3 -2




Arrange the following passes in order from north to south.

1.Rohtang la 2.Zojila 3.Baralacha la
Code:

(21,23 (b) 2,31 (03,21 (21,3

What are Hemis, Thiksey, Shey and Lamayuru?
(a) Cattle Species (b) Tribal Communities
(c) Ancient Languages (d) None of the above

The Sahara desert is spread in which of the following countries?

1. Mali 2. Mauritania 3. Egypt 4. Nigeria

Code:

(@)1,2and 3 (b)1,2and 4 (c)1,3and 4 (d)1,2,3and 4

Choose the incorrect statement from the following-

1.Both Sahara and Ladakh are cold deserts.

2.Glaciers are found in both Sahara and Ladakh.

Code:

(a) Only 1 (b) Only 2 (c)1land 2 (d) None

. Consider the following statements Statements (A): Ladakh area has a scanty rainfall.
Reason(R): It is in the rain shadow region of the himalaya.

Code:

(a)Both A and R are correct and R correctly interprets A.

(b)Both A and R are correct and R does not correctly interpret A.

(c)Ais correct, R is incorrect.

(d)A is incorrect, R is correct.

ALL THE BEST




